GCSE 9 - 1 Questions

Changing the Subject
Non-Linear

Calculator Not Allowed

INSTRUCTIONS TO CANDIDATES
Write your name in the space provided.
Write your answers in the spaces provided in this question paper.
Answer ALL questions.

Any working should be clearly shown in the spaces provided since marks may
be awarded for partially correct solutions.

You should have a ruler, compass and protractor where required.
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1) Rearrange the formula W = T

to make X the subject.

Answer X = [2]

2) Make fthe subject of the formula. [3]
ef —d=kf+1
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3) Make x the subject of the following formula. [4]
alx—=b)= x(c-d)
4) (a) Make gthe subject of the following formula. [2]
wl=m
{6} Make g the subject of the following formula. [3]

hg—c=yq+f
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5) Make p the subject of the following formula. [3]
r+6p=5-pq

6) Rearrange the following formulae to make y the subject.

(aj y-1=g

2]
Ayt w
(b) 2.},4_3—5
[4]
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7) Rearrange fx + fc = ¢ — cx to make x the subject.

Answer x = [3]

: : a-y _b
8) Make y the subject of the expression e T: T
Answer [4]

9) Rearrange the following formula to make ¢ the subject.

dec—d=2a+ bc [3]
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10) Rearrange the following to make r the subject of the formula

_ 4m?
3
....................................................................................................................................................................................................... =
8(x—1) )
11) Rearrange the formula y = ——— to make x the subject.
(x+1)
Answer x = (4]

12) Make g the subject of the following formula.
You must simplify your answer. [3]

J3g+f=h
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13) Rearrange the following formula to make w the subject. [3]

Iw-Tt=x+tw

14)(a) Rearrange the following formula to make & the subject. {2}
3k2=m
{b} Rearrange the following formula to make g the subject. {2}
eg+fg=h
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15)
Rearrange the following formula to make h the subject. 4]
Sh+3k _ 5
h+4
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